
1) Round 2.18 to 1 decimal places.

Answer: ____________

2) Round 2.18 to 1 decimal places.

Answer: ____________

3) 160 ÷ 10

Answer: ____________

4) An amount was increased by 5% to 
$490.00. Find the original amount.

Answer: ____________

5) Convert the following mixed number 
69/6 into an improper fraction.

Answer: ____________

6) Find the median of the following set of data:

39, 36, 29, 23, 20, 27, 10, 5, 37

Answer: ____________

7) (-6) ÷ 3

Answer: ____________

8) Find perimeter of 
square having each side 
(s) equals 61 cm

Answer: ____________

9) 27 x 1000

Answer: ____________

10) 12 - 19 + 20

Answer: ____________

11) 07:26 am To 11:34 am

Answer: ____________

12) 20 x 1.4

Answer: ____________

13) Convert the following improper 
fraction 13/4 + 58/9 into a mixed 
number

Answer: ____________

14) What would you multiply by to 
increase an amount by 14%?

Answer: ____________

15) 13.5 + 60

Answer: ____________
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16) 28.5 x 21.2

Answer: ____________

17) 252 ÷ 18

Answer: ____________

18) 97 - 51

Answer: ____________

19) 97 - 51

Answer: ____________

20) Convert the following improper 
fraction 55/8 + 52/3 into a mixed 
number

Answer: ____________

Total: ___ / 20
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Answers:

1) 2.2 2) 2.2 3) 16 4) $466.67 5) 15/2 6) 20 7) -2

8) 244cm 9) 27000 10) 13 11) 04 Hours 08 Mins 12) 28 13) 723/36 14) 1.14

15) 73.5 16) 604.2 17) 14 18) 46 19) 46 20) 117/24
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